Name: Unit 6 Review
Monica

Geometry Period:____

Date:

ANGLES INSIDE AND OUTSIDE OF CIRCLES
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1) Determine the value of x in each of the circles below. These angles are called (¢ ntval A¢
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2) Determine the value of x in each of the circles below. These angles are called N S¢ribe (¢ l A\,

125 PAY
100 360 ~-280 = 10
=0 : ;
X =(100) X=4(4%) v = 5(n
X =2
) = 6 - X =9 o
X = 0( X =50

3) The diagrams below show a chord and a tangent. Determine the value of x.
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5) The diagrams below shows two tangents to a circle. Determine the value of x.
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6) The diagram below shows a tangent and a secant to a circle. Determine the value of x.
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7) In circle O below, secants AC and CE are drawn such that m@:mﬁQ:mDE:mEA = 2:1:3:4. Determine

the measure of ZC. B0
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SEGMENT LENGTHS INSIDE AND OUTSIDE OF CIRCLES

8) The diagrams below show two intersecting chords. Determine the value of x.
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9) Three tangents were drawn to the circle below creating a triangle. Determinrimeter of the
triangle.
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11) The diagrams below show a tangent and a secant to a circle. Determine the value of x. If necessary,
write your answer in simplest radical form.
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12) In the diagrams below, the diameters are perpendicular to the chords. Determine the lengths as
indicated. '
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EQUATIONS OF CIRCLES AND GRAPHING CIRCLES
_ h i
13) What is the equation of a circle with a center of (-2, 5) and a radius of 57

(x-’Z)L+(%E-b)°:5Z
(x+2)%+ (j -5) “=25

14) Determine the coordinates of the center and the length of the radius of a circle with an equation of
(x =2)* +(y +5)* = 36.
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15) Graph a circle on the coordinate plane below with an equation of (x +1)* + y*> =16.
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16) Determine the equation of the circle on the coordinate plane below.
.

(x-5)"+ (4=2)" > 5°

/ N j > ZJ' R L—’Zb
,. (x-5) (5 2)




LOCUS

17) In the diagram below AB || CD and are 12 units apart. How many points are equidistant from the
two lines and 5 units from point H? Sketch a picture that shows your answer.
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18) How many points are 3 units from the line AB and 4 units from point C? Sketch a picture that shows
your answer.
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19) Points A and B are 8 units apart. How many points are 4units from point A and 6 units from point
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20) Sketch the locus of points equidistant from the lines y =5 and y = -3 and the points 5 units away
from the point (2, -4).
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21) Sketch the locus of points equidistant from the x and y axes and 3 units away from the x-axis.
Identify the coordinates of the locus.

Sk . 5 (3,3)
\\\ / (~%/3)

< X ¥ > (-3,-3)

, T (3,-3)

Z _¥ * N




SPECIAL RIGHT TRIANGLES AND PYTHAGOREAN THEOREM

22) Determine the value of x in the special right triangles below. If necessary, write your answer in
simplest radical form.
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23) Side lengths of triangles are listed below. Classify them as acute, right, or obtuse
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PROOFS

24) Given: Circle O
Tangents AP and BP
Radii OA and OB

Prove: m/ﬁ = m]§(\3
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25) In the accompanying diagram, mﬁ =70, m¥D = 70, and BOD is the diameter of circle 0. Write an
explanation or a proof that shows A REBD and A ¥ELD are congruent.
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